No. of Printed Pages : 6 2 IWSDZSZL/T/ LT
AR SR

M.A. II Semester Degree Examination, Sept./Oct. - 2024
WOMEN’S STUDIES
Computer Skills
(NEP)

Time : 1 Hour Maximum Marks : 30

Note : Answer all questions. Each question carries one mark.
RS ;DR gaoz’ff@/f SVIOR. Eofleviolelny) @’%’z/’f@n’ 25080 GOF/TE.

1. Which of the following is a storage device ?

(A) Mouse (B) Monitor (C) Hard drive (D) Keyboard
FINTRNYY 3R 3eDTHO TN ?
(A) TO=F (B) R»L0° (C) =wF @e@@ (D) deednew s

2. Which type of memory is typically used for the main memory in a computer ?

(A) SRAM (B) DRAM (C) ROM (D) Flash Memory
3OBAKITIYT T2, HFROK CIBT 0eEoH FOBROCHI), AWRTFTON WIRTIHIT ?
(A) SRAM (B) DRAM (C) oo (D) T, HHBRO

3. Which of the following is a type of non-volatile memory ?

(A) RAM (B) Cache (C) SSD (D) DRAM
FINTIYNTY oINPT B TIPT FTTOD 20T TN 2
(A) RAM (B) Ronm (C) SSD (D) DRAM

4. Which of the following operating systems is commonly used in workstations for
professional graphics and design work ?

(A) Windows 10 Pro (B) macOS

(C) Ubuntu Linux (D) Android

B,9TT MORT B DTI FOTFTYN BFEALRINYY 33 FINT 0I0T BTN ABVFNTIY,
mmsémﬁ w%ﬁ#)mmgd 2

(A) Qodweex 10 BR, (B) mﬁs&am‘*

(C) evenoed ITF (D) w@omeod
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5. Which of the following is an example of a microcomputer ?

(A) Mainframe (B) Supercomputer
(C) Desktop PC (D) Server
FINTPNTY 030 mé&@%omémeﬁ OTOTTTHBOITONG ?
(A) DePeRT (B) =Rwezo* 60@@5@3@
(C) BRI (D) =RIFT*

T

6. Which component of an inkjet printer sprays tiny droplets of ink onto the paper ?

(A) Paper tray (B) Printhead (C) Scanner (D) Fuser
C&Oiése QOITT O30T TUBY) TN w90 ToooDd SS@Q 5?371%33301 %)oa'j@‘:ogd ?
(A) SHemo® &8¢ (B) &otFwHcE® ()] mﬁéﬁtf (D) afiraesﬁce

7. Which device is commonly used to produce a hard copy of a document ?

(A) Monitor (B) Printer (C) Scanner (D) Projector
m%asdaows ToTE @&odsabol ZO3ORED 03T mqﬁswa’;{l mmsémﬁ wxmmgcs 2
(A) TRALT® (B) =033 (®); mﬁéﬁtf (D) aﬁ@ﬁgce

8. Which material is most commonly used for producing hard copies ?

(A) Plastic (B) Metal (C) Paper (D) Fabric
Rl ﬁ&mf&& 303ROTLD O3om w#%waia& mmsémﬁ weﬁsmmgd 9
(A) TRAT (B) Sneexm (C) ez (D) TRF

9. Which component of a laser printer is responsible for transferring toner to the

paper ?

(A) Printhead (B) Fuser (C) Drum (D) Paper tray
@3@@56@% %@ﬁd% WMOFONTLD SeFTT LOWT'S O30T FF3BEY) ToTEDWONTS ?

(A) QoI (B) afiraesﬁce (C) & (D) Rezo° £d¢

10. Which input device is commonly used for gaming ?
(A) Joystick (B) Printer (C) Scanner (D) Monitor
ReENOTT TN 0330e8 QTN maawmd m:msémﬁ w%ﬁﬂmmgd 2
(A) =R T (B) =233 (C) mﬁsoe (D) =wJWT*
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11. Which of the following is a common characteristic of hard disk drives ?

(A) Non-volatile storage (B) Volatile storage
(C) Temporary storage (D) Read-only storage
FINTPNYY PR ToE'F QT zgéwm mmsé egz‘amﬁd 2
(A)  ePTSCOTYT FONTES (B) oL FONBE
(C) m@zg@% pslelgfostac (D) 2.Te0-503 FONHS

12. What is the primary purpose of a DVD-ROM ?
(A) To store high capacity data
(B) To play video games
(C) To create backup copies
(D) To print documents

DVD-ROM & 0303 m%@éﬁ@& 9

(A) TS AOIFFT BT, FONLILD
(B) QRERe SWNRTER, SBD

(C) RIT TJENI, TWIY

(D) woDSNYZ, B[RRI

13. What happens when a CD-ROM is created ?
(A) It can be written over multiple times
(B) It becomes a read-only medium
(C) It can only store audio files
(D) It has a very high storage capacity

CD-ROM @m% TN é)mmgd 9

(A) TR, BOTOT VO LWTOILTOT

(B) 2 LT0-BnE SRGITVHINIT

(C) <t s&A3R @Dé@eﬁe;:% 308, BONEBLITOTR
(D) am @& ézs% 3T ARRGE T, BRODT

14. Which of the following is an example of a visual output device ?

(A) Monitor (B) Printer (C) Headphones (D) Microphone

FINTZYNYY PR Cﬁe)éé BT TOTIT YVTRBTHBOITPNT 2

(A) TRALT® (B) =033 (C) Jegweensd (D) daéé@ea"&masf
15. What command is used to copy files in MS-DOS ?

(A) MOVE (B) COPY (C) PASTE (D) FILE

MS-DOS 59 @pm@ BT O30R @&%OS)@Q QYBORMIT ?

(A) =03 (B) I3 (C) w03y (D) 3”30“
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16.

17.

18.

19.

20.

21.

Which Windows operating system was the first to include the Microsoft Store ?

(A) Windows 7 (B) Windows 8 (C) Windows 10 (D) Windows Vista
03305 NOWRCEE STTee3on® RABIT ds@sé@)@m% :\3@;0@@@ BRTO OO BB ?
(A) QoBwext 7 (B) Qotwex 8 (C) «odeem 10 (D) DOBWRER® QA

What is Unix primarily used for ?

(A) Gaming

(B) Web browsing

(C) Operating system for servers and workstations
(D) Video editing

Unix @&Q TGN TN o\m@m@&ﬁ w%mrﬁagd 2

(A) Reswon®

(B) & eRporT

(C) RTFONH D) BFFACRS NN STTeLdon® 1FTT
(D) DeR0dR BOTRTI

Which of the following is a popular Linux distribution ?

(A) Windows 10 (B) Ubuntu (C) macOS (D) Android
FINIDNTY VPR RIL0D ITF, LSTFHOIPNT 2
(A) DoBdwex® 10 (B)  &0e00ed (C) méa@w (D) ©sowmedy

Which of the following is a common feature of Unix ?

(A) Multi-tasking (B) Multi-user capabilities
(C) Portability (D) All of the above
FINTINTY 0P OVT T mm% @o't:\samﬂzﬁ ?

(A) DT TOONF (B) wX-¥30T TOTBFEF N
(C) Brocedrddes (D) 0edT 2y

What is the primary function of a disk drive ?

(A) To process data (B) To store data

(C) To display data (D) To input data

QF, B 'S TWPNT FTVONFRCID 2

(A)  Tewom, BFODHRPVBLD (B) Teemma), BOMGILD
(C) Tewom), BEEHFILD (D) Tewmm), ITROITLD

Which Microsoft Office application is primarily used for word processing ?

(A) Excel (B) PowerPoint (C) Word (D) Access
033033 3, BRTOT, BT WYTEIT WD, TPTHON JWE LBRBAOTFTON WIS ?

(A) S (B) I[Jomoowosr  (C) =3 (D) Be3



22.

23.

24.

25.

26.

27.

28.
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What feature in PowerPoint allows you to add visual effects to text or objects ?
(A) Transitions (B) Animations (C) Themes (D) SmartArt

TR TCNOLFIYT 0370 %%’3@@ TG, WP SRR T3, TOTOTINTIY, FeoTeD TN
@mm@mgcs 9

(A) TOTBEINEDL (B) ©DeRINAD  (C) HEHIO (D) AREFFEETE

Which keyboard shortcut is commonly used to save a document in Microsoft Office
applications ?

BRBRETOTT, SRR’ VYFIINTY TINDOW VT, WYKL 0IPT  seXdRer’s
m@?;%@s“@&& mmsémﬁ ueﬁﬁmmgd 9

(A) Ctrl + P (B) Ctrl + S (C) Ctrl + C (D) Ctrl + Z

Which of the following is a way to save a document in Word ?

(A) File > Save (B) File > Save as

(C) Both (A) and (B) (D) File > Export

BEETY FIRIOWFOR, YOPHLD FINIYNTY 03P 20T TTNE N ?
(A) ﬁes@s > R (B) ﬁé@’ > Bew® 8F°

(C) (A) =22 (B) 2TER (D) %@6 > T

What is the shortcut for copying selected text ?
Slewy méwmcl STOFD TotFF BT OIPR)TD ?
(A) Ctrl + X (B) Ctrl + C (C) Ctrl +V (D) Ctrl + Z

What function would you use to find the average of a set of numbers in Excel ?

(A) SUM (B) AVERAGE (C) MEAN (D) TOTAL
@%@%Q xoajsﬁe; xmxbo\‘om‘% TOTWRLEODNED Jezy) O30T @03395530{ 290 9
(A) Be3 (B) =oo%0 (C) Beg (D) 263

What is the shortcut to create a new blank document in Word ?
Word 89 Xwx 509 mﬁasdaow T8TeD ToeFF 3L O30T ?
(A) Ctrl + N (B) Ctrl + O (C) Ctrl+ P (D) Ctrl + S

What is the maximum number of columns you can create in a Word document ?
BT m%aéﬁaows@q Qex) DWWV ﬁ@a’% :30935033 FOORI N @S& 2
(A) 2 B) 3 (C) S5 (D) 13
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29. Which of the following fields commonly uses supercomputers ?
(A) Weather forecasting
(B) Financial modeling

(C) Molecular modeling in chemistry
(D) All of the above

FSNT SR gegﬁ% mms@ﬂ mwcfﬁomé&c@ﬁ@mq mmgﬁ 2
(A) BDOBPST BTV

(B) %R m0BDONT

(C) dmoﬁaﬁmiﬁ@ ShiolJenveletlelpy

(D) 0T 2

30. Which of the following operating systems is commonly used on microcomputers ?

(A) Windows (B) Linux

(C) macOS (D) All of the above

ﬁaé%@esoméwdmf@q 33 BPNT O30m BTTee3ont a@wm;sa& mmsémﬂ w%mmgd 9
(A) QoBReF (B) 937,

(C) msaraw (D) R0 2
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